


M1, M2, M3, M4 and MS are five
5 men sitting in a line facing
towards the south. L1, L2, L3,
L4, LS5 are five women sitting in
as second line parallel to the
first line facing towards the
north.

1) M2, who is to the immediate
left of M4, is opposite to L5

2) M3 and L2 are diagonally
opposite each other

3) MS is opposite L3, who is to
the immediate right of L1.

4) L4, who is to the immediate
right of L3, is opposite M4?

5) L1 is at one end of the line
which of the following pair is
diagonally opposite each other?



©

(a) M1 & L2 (b) M5 & L3

wrm &Ll (d)M3 &L1

M1, M2, M3, M4 3R M4 U9 5
Al féoT B AR JE WD D
gt § 93 €| L4, L2, L3, L4, L5
Uig Afdd SR B AR HE wRe
Ugell Gt & WHMIOR TEN Ufh #A
& B

1) M2, 5if M4 & &% T3 3R &, L5
o fAuda

2) M3 3R M2 Uh TR & fdaui:
farda €1

3) M5, L3 & fdudild 8 &I L1 &
dI% T% 3R 2|

4) L4, S L3 3 3% TE R 8, M4
® faudia 21

5 L1 W& & U% BR W B,
frfoRag & @ @9 91 ST @
TR @ fawvia: Ruda €1
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Six gloves are placed on a tables
side by alled P, Q, R, S, T

And U are > rubber
glovgs, whereas the other are
woollen. Three gloves S, P and Q
are of green colour, whereas the
rest are black in colour. Gloves
Q, S, U are the gloves gifted by
someone, whereas the others are

brought?

Which of the following is a black
rubber glove that has not been
gifted?

P, Q, R, S, T 3R U o9 9l B8
TN TP 39 TR TP A ¥ Y |
(T, U 3R 8) W& & T 8¢ Safd




I HA 8| A9 g S, P 3R Q
& VT B BU Sefd I/ Bl T B
8| €M Q, S, U &1 T &t &
gRT SUER # fau v § w&fd 3=y
g 7Y 87
f=forRad & |9 @9 9T BTaT I6R @
ST 8 Sl SUSR ¥ 8! fear omar
87

(a) S M

(c) U (d) R
®
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Nine employees K, L, M, N, O, P,
Q, R, S are sitting in the office in
a straight line, all facing the
east. O is third to the right of M,
K is third to the left of P. Q is
b/w P and S. N is fourth to the
right of M. P is to the immediate
right of N. R is fourth to the left

PQSuf 0. which of the following is

(a) R and S are sitting at corners
w L is sitting third to the left of
0
(c) Q is sitting fourth to the right
of K
(d) O is sitting b/w Kand N

not correct

A 99l K, L, M, N, O, P, Q, R, S
Faferd ¥ e el Y@r 7 38 &
T4l qd &I 3R & @ 83 B | O,
M@ T I OGRR RF R 87 K, P
PIVNA IR VT RE| O D TS
R fr=faRaa # | @9 41 A8 T8l
g



Radha wears 5 different coloured
clothes, Red, green, yellow,
purple and brown on 5 different

days of a week, from Monday to
Friday. She wears red clothes on
Wednesday. She does not wear
green and brown clothes on
Monday or Friday. She wears
green clothes on the next day of
wearing yellow clothes. On which
day does she wear brown
clothes?

IET IR ¥ EHaR dF 98 & 5
T3 T fadl # 5 ST 3Tl T 31
® PUs UsAdl B, e, B, Ui,



T 3R IRT| AR B {3 98 Tl
96 Ul 8| 98 WHAR AT YhaR
P W AR W T D FUS T UEAN
gl 0l a8 g @ 3Tl R a8
W TE TEdal 8l 98 5w T R
¥ & BYS Tell 87

Ay Monday—
(b) Tuesday

—(c] Friday—
)ﬂursd&y



A, B, C, D J, K, L and M are
sitting around a square table
facing the centre of the table.
Four of then are sitting at either
of the corners while other four at
the exact centre of either of the
sides. D sits at one of the corners
of the table. Only two people sit
b/w D and C, when counted from
the left of D. only three people
sit b/w C and B. M sits third to
the left of B. k sits to the
immediate right of M. A is
neither an immediate neighbor of
B nor C. J sits to the immediate
left of A.

Who sits second to the right of
L?



AL B,C,D J,K,LIRMW
FMBR AW & ARl MR Pg P AR
qE ¥ 96 © | S8 9§ AR e A
P W 43 § &P 3 AR QA0
Ui B Sp dg RS &1 D WA B
U% I U 99T 8| 914 D & 914f 3R
AT Sarev ar D 3R ¢ & 4w
PIA QA AT SSA EI CIAR B > 4B
DI A T 93d 81 M, B & 97T
IR AGRRN WF TR 93dr 81 7 @ B
IR 7 & ¢ FT NPy TS 21 J,
AD 3 915 3R 937 B

L 3 T ¥ T ®F W $IF 901

87
(a) C (b) K

(c) J M



(a) Only Band D
(b) Only A, Band C
(c) Only A

\Jﬂ AllA,B,CandD

Select the cube that can be
formed by folding the given seat
along the lines.

SYH U9 BT II9 PN Of o TS Wi
Bl @R & IAfRY ASHY T I

T B 7N

2

o O
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16 35
18 33
34 7
(a) 33

(c) 35
(d) 34

N 0 O



In a certain language STUDIES is
coded as 60433 and PACKAGE is
coded as 201113. How will
BLOWING be coded?

vs fAf¥sd 9T # STUDIES &1
S')’ UDIES 60433 @ WY ¥ difed fHar oer

..Iol Qﬂal\_‘!"’l S 19 3R PACKAGE & 201113 & ®©U ¥
60 q 33 difed fHar SIaT 81 BLOWING &)
&9 PIfsa fear smem?

PH’C_KH-QG ) 202440
613 #s

QQO I \ ‘ 3) (d) 292431

PLowING

|

25



How many squares are there in
the given figures?

&t TE ot ¥ fbam it &7




In an organization with 214

employees, 120 participated in
clay Modelling and _ 130 )
participated in poster making,

employees participated in both
clay modeling and poster
making. If each employee
participated in at least one of the
two activities then how many

empluzees particigated in poster

making only?

214 FHARA qA T WS W,
120 ° & HArsferT # 4T forar 3R
130 H UReR AfGT # HET foramr, 36
FHARYT A Tl HisfolT IR URex
AfbT =1 A wer forar) It e
FHART A HH 9 B9 q Tfafaftar |
| Uh § HT forar o fhan oAl
< Had UReR g9 H 91T forar?




RS 1/s'n/ron,5 K7/ "

(a) URTSSR
\/fHﬁSTURR

— (c) SRTURU
RSTL (d) STURSR

@T—c—_ <



Statement:-

1) 2.2. million Children in Delhi
have irreversible lung damage
due to the poor quality of the
air.

2) Number of people who died
every hour in Delhi because
of air pollution has increased
three times in nearly 20
years.

1) 2.2. 9 B G UG D BRI
fieehl # oGl =@ & BHel B
IR &fT g8 2 |

2) faeell W g UQWOT & HRUT W
e AR drdl DI H&AT ITHT 20 991
4 9 AT 9 TS B



(a) Statement 1 is cause and

statement 2 is its effect
HAT 1 PRI & 3R HUT 2
SHDT Y9G B

(b) Statement 2 Is cause and
statement 1 is its effect

FYT 2 BRY § AR HFAT 1
EREAR CICES

Both the statement are
effect of some
common causes.

Sl HUT B WHEI DR P
JHTd € |

(d) Both statement are effect of
independent causes.

T B WAA DRV BT T9T & |



Statement:-

1) There has been continuous
increase in average
temperature during winter in
many parts of the country
over the past few years.

There has been significant

2)
em‘d’c’__\ changes in the wind pattern

across the country over the
last few years.

HUT—
1) 5ol B a8f § T @ 53 el
# 9feal & SRME M¥d aIHE H
AR i 88 © |

2) Bl $© a8 § QU WX A 81 D

Ye+ # AEayUl 959 §Y § |




(a) Statement 1 is cause and

statement 2 is its effect
FAT 1 PRI B AN PUT 2
S9BT Y9G 2

(b) Statement 2 Is cause and
statement 1 is its effect

YA 2 BRU & AR PUT 1
S9PHT 9T &

oth the statement are
\/(Q/Z'fect of some
common causes.
Sl HUYF HY AT BRI DI
TG B |

(d) Both statement are effect of
independent causes.

S HUF A BRI BT UHIT & |



Statement: The district authority

has decided to set up wireless
communication along the

coastline in view of the cyclonic
storm hitting the coast.

Assumptions:
The telephone
/ communications may be
paralysed due to the cyclonic
storm.

L/X, The wireless communications

system may be able to with-
stand the impact of the
cyclonic storm.



HYF: THA! GBI B dc o THIA
@ q@d g forem wifdreer 7 wHs
¢ W IRRAY R RMUT &RA BT
fAofa forar 81

o

EMRUTTY:

1) ThAr qHME D BRI CallbIA
HIR 3 B |l B |

2) IR HAR UMl Tshard] qb
& UM DI Ao W HEH B FH § |
(a) Only 1 is implicit

(b) Only 2 is implicit

T Both is implicit

(d) Neither is implicit



Statement:
A>B<C;B>D>E;A<F<G

A?é l/ Conclusions:

AT A>E  (e@lALE
/]’F}D

hYq
A>B<C;B>D>E;A<F<G

fspy

1) A>E

2) F>D

(a) Only II true
(b) Only I true

\/k.'rBoth are true

(d) None is true




a) 2, 3 correct
(b) 1, 2, 4 correct
(c) 1, 4 correct
(d) All correct

Statement:
1) All school is college.
2) Some college is university

3) No university is degree
Conclusion:

x1) Some degree is not school
VM’ Some college is not degree
‘,31/ All school can be degree

) Some university is not
college

HU:

1) T ThHe! Pl & |

2) | Dleiol faafdened &
3) By gafaer f&fh =g @
frep:

1) 3o Sl oo 78l 3

2) §B Bicel M &l 8

3) O ¥ Sl & "ad §
4) {B IS Bietol 781 &



In a family, C is the son-in- law
-I— — of V. T is the brother-in- law of D.
JZ—-;r -_—-.\/ &> D R is the only child of D. I is
married to T.
P is the granddaughter of V. K is
the son of R. V is the wife of D,

C""— D has no sister.
How is K related to P ?

A % URIR HY C, V T TEE 8| T,
k D &7 98415 8| R, D ®I UHAE G
?Z»"' 2| 1% faare T gom 2|
(a) Mother P,Vaﬂ'm_(ﬁ%|1{,ﬂ$f§%|v,
(b) Uncle D & Uil B |
(c) Sister D @I Blg 98 8! &.
(JH Brother g p § &g yoR Hifdd 27




g $B Sets fay MY 8| fod 1,
III HT Relation & 9 9
relation &T I ¥ relation %I 39 1

3R now relation ¥ = H no faaT %

@ Tkt ?

® T ST
. ,Xm/\’\ 12
ol YRR

21, 9, 0 = 861
48, 55, 2.=2304

(b) 63
(c) 65



Select the correct mirror image of
the given figure when the mirror is

A o0 & R _[ V B 58 ; placed at as shown.

v Tl B REmw T AgER W
WY @ & TS AHfa B WE U B

BT TIT BN |



Select the correct water image of

\', the given figure after making mirror
A o g N N image
WY T 67 &%) | T BR T @ aE A T PR A
N el il Bid BT TI7 BN |

Lrawnr Z (XX WG
KIS




Statements:-

Some countries are continents
No continents is a glacier.

All vehicles are continents
Conclusions:-

‘/Lwﬁ‘e countries being vehicles is
a ibility.
\_A{;gﬂﬁ: vehicle is a glacier.

III) All continents are vehicles.

) QV] No country is a glacier

HO < HEGY &

Iy HBIGIY TIl¥RR T8l B.

w4 989 HETEY €

fr=py
(a) only conclusion I, Il and IV follow () % 9 & 918 8 &I HHIET ¥ |
(b) only conclusion I follow (11) ®Ig e IRRR 78! 21
(c) only conclusion II, and III follow 4y} wfy werehiy 9= &)

Jd-l"bnly conclusion I and II follow (V) 1 9@ o1 RER T T

o'y



Odd one out
fawq G s &N |
 Jer(as-az1g9
(b) (23-69-276)
(c) (39-78-312)
(d) (59-3@;‘3)
XY



In a certain code language ‘BUT’ is
?;(,..r" written as ‘215’ and ‘EXAM’ is

T" wrltten as ‘S0l How will
U —>Y 3 ASONING’ be written in that

l.':‘language?
EXﬂ M—-""IB F@- s fAREd @ wir A ‘BUT @1 215’
n S AR ‘EXAM’ &Y ‘301’ foram &rm 21 S9
99T § ‘REASONING’ &9 fordl Sgfi?

CASONIN "*“’ o 5332 ) 2644




(b) Wednesday
(d) Friday

(a) Sunday

L[p{'Thursday

Three students were talking each
other in a class. A said today there
is no day from Sunday to Tuesday. B
said today is neither Wednesday nor
Saturday. While B said that
yesterday was Thursday and after
two days it is Sunday, then what day
will it be 1168 days from today?

TP T A B AR IR R I A 3
HEl AT AIR | AR ATAIR Tb Bl
HIg 9 o7 98 81 B 7 Par A 7 a
IR 8 AR 7 & ufaR 2| oefd € 1
el fd o THaR o R T faA 918
Mfdgr 2 o 39 ¥ 1168 fed 41
HIHF—ar 35 gFm?




Jaya’s husband is Jatin and Jai’s
wife is Jyoti. Jatin’s father-in-law is
the maternal father of Jyoti’s only
daughter Jia. How Jyoti is related to
Jaya?

W @ ufe wfod € R W @ ae

wifd 8| Sfcd & TR Sfd @ gHara
g¢! forr @ = €| SOifd, o 9 fa
UPR Heerd 87

(a) mother (b) sister - in - law

L/,t;al"ﬁter (d) daughter




Select the option that is related to
the fifth number in the same way as
the second number is related to the

L‘ C— 6—> 6| —>7Fo  first number and the fourth number
' is related to the third number.

45 : 720 2 20:720¢ 2157
-?0—96'—-76./—-‘5?:{0 99 fddeu &1 79 B Wl uredl w9

STy T R o ot o e
wET | et 2
45 :720::20:720: :15:7?

\/m—zr (b) 720

(c) 640 (d) 100



o 120
L
P Soud

What will come in place of question
mark (?) in the following question.

YT :120::SL:5040:: ?: 24
f=ferRed us1 4 www fag () @
W YR T 3TIT?
YT:RO::SL:5040::?:24

(a)HL (b) ZY
OK (Lo <63
IS




(b)

What will come in place of question
mark (?) in the following figure?

I

>

10

< ofe A
?

A D) v,
frr=ferfea smafa 4 v R (?) @ wIF
U} 97 39T
3w S e
Y = x]\( —

3 4 3 <l
. /\( ~

0




Prime minister of eight countries A,
B, C, D, E, F, G and H are sitting
around a round table in round table
conference at U.N.O. C’s P.M. is
sitting just right of D’s. A’sBM.is
sitting third left of E’s. C’s P.M. is
sitting third right of E’s. H’s and D’s
are opposite to each other. G’s is not
sitting with C’s and H’s. B's is
sitting second left of G’s.

Which P.M. is sitting fourth right of
E’s?

U.N.O ¥ TIeisl §9eE d 313 QI A,
B,C,D, E, F, G3IRHD WHE A &
Me A @ TR 3R 93 8| C & P.M.
D & 3% Q¢ 43T 8] A &T ¥IH HAl E
® qI¢ IR WM W) 98T 8| C & P.M.
E® I ¥ e ©F R 987 2| H 3R



DWW TR AT 8l G, CIRHD
9y 8 43T 81 B, G B I TR WM
TR 99T & |

P9 9 PM. ED T ¥ 9 N W
a3 87

(a) G (b) H

(c) C L






